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Answers of all questions are to be given in the Answer-Book given to you.
15 minute time has been allotted to read this Question Paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the Answer-Book during this period.
Candidate must write his/her Roll Number on the first page of the Question Paper.
Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.
For the objective type of questions, you have to choose any one of the four alternatives given in the
question, i.e., (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to
you.
Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.
(a) The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or any such
electronic devices in the Examination Hall
In case of any doubt or confusion in the question paper, the English version will prevail.

Write your Question Paper Code No. 67/S/ A-A on the Answer-Book.
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This question paper consists of 51 questions in all.
All questions are compulsory. Internal choices are given wherever required.
Marks are given against each question.

Section - A consists of Question Number 1 to 20 that are Multiple Choice Questions
carrying 1 mark each. Select and write the most appropriate option out of the four
options in each of these questions. An internal choice has been provided in some of
these questions.

Section - B consists of Objective Type Questions 21 to 35 carry 2 marks each. Attempt
these questions as per the instructions given for each of the questions.

Section - C consists of

(@) Question Number 36 to 41 Very Short Answer Type Questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Question Number 42 to 47 Short Answer Type Questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(c) Question Number 48 to 51 Long Answer Type Questions carrying 5 marks each
to be answered in the range of 80 to 120 words.
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SECTION - A / €@US - <

Questions 1 to 20 are Multiple Choice Questions. Internal Choices are given wherever
necessary.

U9 1 9 20 qh Sgfashedia U9 €1 STl off Smavaes &, stafie faeskeu fau <ima €1

1. (i) ‘Regional belief” is an example of :
(A) Economic factors (B) Social factors
(C) Both (A) and (B) (D) None of the above
B BRI RN A I AU AR
(A) ST wRE (B) WIS qRfEfd
Q) (A) 3R (B) THI (D) T8 ¥ HiE off &
OR/3AYdaT
(i) The concept of social entrepreneurship came around :
(A) 1960 (B) 1965 (©) 1990 (D) 2014
TSI ST ot TR0 | 316 ¢
(A) 1960 H (B) 1965 H (C) 1990 # (D) 2014 H
2.  Displacement from a job is concerned with :
(A) Pull factors (B) Push factors
(C) Both (A) and (B) (D) None of the above
et | oo &1 Heg
(A) FIHI I G (B) 3TN 9@M aldl &k
(C) (A) 3R (B) qMI (D) ST H 9§ g Tl
3. (i) A business with a turnover of upto Rs. 5 crore is :
(A) Micro enterprise (B) Small enterprise
(C) Medium enterprise (D) Large enterprise
5 TS T qeh AR ATl foomd © :
(A) Y&H =M (B) <Y 3=H
(C) w&IH 3ITH (D) el 3eH
OR/3Terar

(i) Identify the type of entrepreneurship where an individual sets up a business as a sole
owner of the business and bears the entire risk involved in it.

(A) Corporate entrepreneurship (B) State entrepreneurship
(C) Private entrepreneurship (D) Joint entrepreneurship

SYTHAT & TR hi TEO H T8l Ueh Hfed SHaEM™ o THHT Hifeleh o ®9 § Ferdrd €fud
T T 31 3 wnfher Syol Sifem o 3 2 |

(A) frfaa safgar (B) TT SEfHal

(C) Tosit safian (D) G SYTHA
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4.  Basmati rice of Dehradun is an example of a : 1

(A) Patent (B) Copyright
(C) Geographical indication (D) Trademark
qelgT <l SATHH! =Tl enl 3qledVl % :
(A) Yz (B) whIdNIEe
(C) iFiifaie Hehd (D) <euH
5.  What is creativity in the context of entrepreneurship ? 1

(A) Strict adherence to established norms

(B) The ability to think and act in innovative ways
(C) Relying on traditional methods only

(D) Avoiding risks at all costs

SETHAT o T T TeAIeTRal 11 T 2
(A) TNfUd AHEEl I ek & qoH
B) el qdiehl § | SR e A i e

(

(C) URUR Tehl W & W R W &

(D) & HHd R SIEH 9 =1

6. (i) What is one-way entrepreneurs can enhance their creativity ? 1
(A) Avoiding exposure to new ideas.
(B) Embracing a fixed mindset.
(C) Constantly seeking new experiences and perspectives.
(D) Rejecting feedback from others.
THaLhT ST 3T TSR] hl FIT 56T Hhd © 2
(A) Q fo=mi & ¥4 § T 9 =1
(B) e Tf¥=d AHTTeRdl i ST9MI |
(C) AR 7T STel 3R eI i T T |
(D) & k! Yfdfshan ol STEallehR T |
OR/ 3T

(i) Which of the following is not a feature of creativity ?
(A) Originality of idea (B) Knowledge
(C) Ability (D) Imagination
frfafed § & H TareTsha i faga T& § 2
(A) o= =t Hifetehd (B) M
(C) &= (D) oheTHl
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7. (i)  The right which grants protection to the unique expression of ideas is called : 1

(A) Trademark (B) Copyright
(C) Patent (D) All of the above
og TR S Tl &t ifgdia SAfeafer sl TI&I01 YSM ol §, el © :
(A) geurh (B) hIdrEe
(C) ke (D) SRR Tft
OR/319rar
(i) Spiritual value includes :
(A) Insight (B) Awareness
(€) Truth (D) All of the above
et e | wfhe €
(A) g (B)  STTEehdl
(C) w= (D) ST |t
8. (i) DPsychological needs arise from : 1
(A) Need for affiliation (B) Provision for old age
(C) Hunger (D) Thirst
HASR T SRR S Bl ©
(A) G i TR 9§ (B) ggTeren % faw g 9§
(C @¥ (D) =EH
OR/319rar
(i) Itis hard to observe motivation directly, because it is :
(A) External feeling (B) Internal feeling
(C) Mixed feeling (D) Not felt
YO hT Wegel &9 H FH0eT0 ha1 hfed §, Fife a8 T -
(A) = S (B) S STl
(C) fafsa s (D) Wegd & gam
9. (i) Under this incentive employees are offered shares at less than market value. Identify 1
the incentive.
(A) Profit sharing (B) Co-partnership
(C) Employee empowerment (D) Status
TH UIE & T8d HHAIE! ol ISR Jod ¥ %A T R HT AR 61 ST 8 | Tedms
B |
(A) Ty favesm (B) He-HIiert
(C) wHHA HerfeRTeRTol (D) feafa
OR/ 3t
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(i) Which non-financial motivator involves acknowledging and praising employees for
their contributions and achievements ?
(A) Organizational climate
(B) Recognition
(C) Career advancement opportunities
(D) Enriched jobs
fepg TR-foritar 9Xen 6 K= b Sk e SR SqeifeuEl o fofq Tetehr T AR S7ht

T AT A § 2
(A) HITSHAHS Seldy
(B) Hr=a
(C) HhfER ¥ 390 & 7w
(D) w5 Awfe
10. Forces that may cause trouble for the person is identified as : 1
(A) Strength (B) Weakness (C) Opportunities (D) Threats
T} el o1 YE=e i STt & Sl 3ok o Tl QLRI hl shIOT o Hehell @ :
(A) T (B) T (€) s (D) e

11. Entrepreneurs move in different areas to achieve efficiency and higher profits. Which 1
quality of entrepreneur is highlighted in the given statement ?

(A) Responsibility (B) Achievers (C) Feedback (D) Mobility
T&I TR I AT U i o T et faf= &0 # e T © | feu 7T e o soeht o ford T
T T ST T T 2
(A) e (B) e (C) widfshan (D)  Tricritere
12. (i)  Which is not the feature of sole proprietorship form of an organization ? 1

(A) Sharing of risk (B)  Unlimited liability

(C) No separate legal entity (D) Single ownership

el HTed & Tohel Wi @ed &t A ot o 72 § 2

(A) e = ST (B) THifHa <

(C) RIS ST HILAT 3RS Tl (D) Tehel ETTHA

OR /319l

(i) Identify the act that govern partnership form of organisation :
(A) Indian Partnership Act 2013 (B) Indian Partnership Act 1932
(€) Indian Partnership Act 1956 (D) Indian Partnership Act 1912
SH ATTH 1 Te=H H S W & e WEd i FEE I €
(A) RdE SRRt sifafem 2013 (B) wRdr wrEierl sifufrem 1932
(C) YR HEieRl SAfufH 1956 (D) YR HEeRl SAfufem 1912
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13.

14.

15.

16.

Which is not the long-term financing sources ?

(A) Equity share (B) Preference shares
(C) Public deposits (D) Trade credit

1 |1 Sefhicrsh formdoor & T8 § 2

(A) zfRdt A (B) Wit afw

(C) resITeh ST (D) SATIR B0

DIC stands for :

(A) District Industries Classification (B) District Industrial Classification
(C) District Integrated Centre (D) District Industries Centre
DIC I e ¢ :
(A)  TSen sam srffero (B) TS siiifires arfierton
(C) fSem wida &g (D) foem & &=
(i)  This analysis involves evaluation of a project in terms of cost and benetfits :

(A) Economic analysis (B) Commercial analysis

(C) Detailed analysis (D) Market Analysis

79 foveryon # @rTd o) @y & e # forelt ufieis 1 qewie e ®

(A) Tt foavervor (B) afurier fargetson

(C) foga fomeiwo (D) WSIR fagetso

OR/3AYdT

What is resource mobilization in the context of organizational management ?
(A) Allocating resources efficiently

(B) Generating and managing financial and non-financial resources

(C) Reducing resource utilization

(D) Controlling resource access

GISATHS Yot % Ged § GH1EH S 1 § 2

(A) HEHAT 1 HUCAYES TEe FHE

(B) ot iR TR-fodta dameri o1 gorm iR yeiem
(C) HETHT ITART &l FHH HEAT
(D) HETeH vga i i e
How many digits are there in “Udyog Aadhaar” ?
(A) 12 (B) 10 (C 13 (D) 8
" sER’ H foha 31 B § 2
(A) 12 (B) 10 (C 13 (D) 8

[ERE
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17.

18.

19.

20.

(i)  Which state have first rank in EODB 2018 ?

(A) Delhi (B) Assam
(€) Gujarat (D) Uttar Pradesh
EODB 2018 H fohe T =1 Werm & WIa & 2
(A) feeedt (B) 3r&H
(©) TsE (D) I HH
OR/3Terar
(i) On how many areas EODB index is focussing :
(A) 2 (B) 4 (©) 6 (D) 8
TATSIE! oo foha &5 T &AM higd i W & ?
(A) 2 (B) 4 ©) 6 (D) 8

What is the primary criterion for classifying enterprises as micro, small or medium ?
(A) Turnover

(B) Number of employees

(C) Investment in plant and machinery

(D) Export turnover

el T GeH, oY A1 HEAH & 9 H aiichd Sl WATHE THIE 1 2

(A) HHER
(B) HHSIRAI sl He
(C) FIF IR W= # Frew
(D) fafd wRER
The maximum number of partners in LLP are :
(A) 10 (B) 20 (G 25 (D) No limit
LLP ¥ Afeehds HEER 81 o ¢ :
(A) 10 (B) 20 (C) 25 (D) =g ©iH
Start-up incubation is also known as :
(A) start-up accelerators (B) venture capitalist
(C) angle investors (D) private accelerators
WE-379 Ta¥H 1 38 T ¥ off ST S €
(A) TWE-3T ©RE (B) e Ysirgran
(C) =k e (D) frsit =k
OR/3AYdaT
What is a key characteristic of Micro, Small and Medium Enterprises (MSMEs) ?
(A) Large-scale operations (B) Limited access to finance
(C) Government ownership (D) Strict regulatory compliance
e, T SR HeAH ST (TH TH T §) T R &2
(A) =S TR W FeEeH (B) fod 7= +hifia w5
(C) TN TfHee (D) &&= fFames e

[ERE
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SECTION - B/ @Us - @

Questions 21 to 35 carry two marks each. Internal Choices are given wherever necessary.

U9 21 | 35 Ak Wk U9 SF 3feh ohT § | W&l it Magares &, Aiaiier faereu fau i ¥

21. Fill in the blanks (any one)

(@) The and sector plays an important role in promoting ideas by
providing required finance to start a venture.

(b) Entrepreneurs are considered as nation builders as they generate and create

opportunities in an economy.

R T R’ (T Teh)

(a) 3R &7 IYH Y& F & U srewass faa g sk foam
g 2 H TEegul yftreht o € |

(b) AT 1 g Tofar 9 ST ® Fifer 9 U stefeeen 3 HA © SR
e e w

22. Match the following : (any two)

(a) Frustration in the present job (i) Job

(b) Individual capabilities (i) Pull factors

(c)  You are your own boss (iii) Push factors
(iv) Entrepreneurship

frfafaa w1 e &8 : (SR ar)

(a) oA AR H e () &M

(b)  SATHNTG &mHaTd (i) FeHI I IS

(c) 39 3T HifeTh w&F (iii) ST IQH AT FRF
(iv) SefHar

23. State true or false : (any two)
(a) Bill Gates is an example of an innovative entrepreneur.
(b) Development of small shopping complexes is an example of imitative entrepreneurs.

() Shahnaz Hussain is an example of women entrepreneur.

et =1 TTeTd g : (SR o)

(a) Toa 8 T FaraeT et 1 SIS |

(b) BT WM IR Fl T TR JeTHAT 1 Teh IS0 ¢ |
(c) TS go Tfect STt 1 T Seev |

1x2

1x2

1x2
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24.

25.

26.

27.

Answer the following : (Any one)
(a) Give two types of values.
(b) Give two types of innovation

frefafed &1 WS : (FE TH)
(a) T YR & oI Faed |
(b) T YR & AAYSdT AT |

Complete the following statements : (Any one)

(a) An idea which is unique, is an , but an idea which is unique as well as
useful, is an .

(b) The term, lateral thinking was coined by and SCAMMPER technique is

concerned with

Frefafed weEl &1 qu R : (hiE TeR)

(a) THTTERSTafgdae wh_ ¥ <ifed T faem s fgda 9 & wne-ane S
ff g, TH 7

(b) URE A IR BRI 7@ T o1 3R SCAMMPER it q Gaifed
gl

State true or false : (Any two)
(a) Historical values include accomplishment, creation, and validation.
(b) Hindrances are the support in the way of creativity.

(c) Charging higher price results in increased revenue and profits.

TE N T T : (R &)
(a) TR qodi § Suafes, fmio ok e mite €
(b) TR i T8 H FhEE HEW & |

(c) e HMd e ¥ T IR AR dgdl |

Complete the statement : (Any two)
(a) Business ethics are special study of morality which applies on policies
(b) McClelland give 3 need model based upon

(c) The two categories of motivators are

I TR : (HE )

(a) AT Afaekdr, Afqewar 1 fowy eterga ® s el T AN Fen T
(b) FacIcie 7 3 AR & YR R Afead T |
() UTHI HT & ST gl

1x2

1x2

1x2

1x2
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28.

29.

30.

31.

Choose the correct answer out of the choices given : (any two) 1x2

(a) needs pertain to the survival of human beings like food, clothing, air and
water.

(b) can be positive or negative.

(c) Habit thinking means a set way of thinking which tends to occur

(motivation, creativity, indispensable, subconsciously, awareness, attentively, physmloglcal
ego)

feu T fohedl § 9 9& SW A : (Sig )

(a) IS, U, T SR I S SMATIHAT T & 3T Faiferd ¥ |
(b) HRNIEE T ThRIHE & TRl T |
(c) oTed 9= I 27ef § | &l T MUiRa alem s B T

(UM, ToATcHRdI, STAREH, STa=dd 9 9, STEhdl, S, INNE, TEHR)

Give one word answer : (any two) 1x2
(a) What is the starting point in motivation process ?

(b) Name the core value without which gave an entrepreneurs freedom to express
themselves.

(c) Name the attitude with the help of an entrepreneur can tap the opportunities in the
market.

T 758 H S| T : (S &)

(a) ¥om ufshen ® yrRfyes foig N 2

(b) 39 TS I H1 A TR ek o1 SafieEl i G ®l Afvered w o STeme; fHerd 7 |
(c) 39 gfteehIvn 1 T SISy fSTEeh! Tedl ¥ Teh el orsiR | STaEi i Se e bl ¢ |

Match the following : (any two) 1x2
(@) Public Company (i) agreement is must
(b) Private Company (i) labour force requirement
(c) Partnership (i) minimum members 7
(iv) maximum members 200
frfafea &1 faam &8 : (FE ar)
(a) HrESE HOH () T S ?
(b) TSit st (i) 9H oA HI AT
(c) HEeH (i) ~AAH HSH 7
(iv) Tfehdd TS 200

Answer the following : (any one) 1x2
(a) Give two purposes of project report.
(b) Give two sources for acquiring manpower for an organisation.

frAfafEd 1 SW T : (hig Teh )
(@) iR RO % 31 Seed sy |
(b) foreht Gired o foru SHeIferd 9T K3 & A &I ey |
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32. State true or false : (any two)

(a)
(b)
(©)

(@)
(b)
(©)

While starting up a business, entrepreneur is the first person to invest in it.

Venture capitalists have no intervention in managerial decisions of the enterprise.

Angel investors avoid investing in small start-ups.

el =1 TTeTd oard : (RIS &)

Rl o 1 & i THT ST SHA 99 3 9Tl Yeel sAfad B €

e % yelesnt ot § Sem gSiafaal s g seer e e ¥

TS v B¢ WR-31 § f99 e 9 o=d § 1

33. Complete the following statements. (any one)

(a)
(b)

(a)
(b)

KVIC is a body under the ministry of

SIDBI provides

KVIC T o 37 T fehm § 3R

IGEEl R

and services.

Frfafea st &l 90 X1 (IS Tk )

el YeM Il ¢ |

34. Complete the statements : (any two)

(a)
(b)
(©)

(a)
(b)
(©)

Entrepreneurship Development institutes

Techno Park TBI

State Financial Corporations provides

o qU HL : (RGaT)

IHar fahd TeaH
T Uk ST

T fadia e 9@ d § |

35. Complete the table below : (any one)

Business Registration

Under which act

Registration at

(@)

Joint Stock Company

(b)

Cooperative Society

e <t 7€ arferent bl g0 Y : (RIS TR )

67/S/A-249-A |

ST GSlIeh 0] form srfufem & aed ESIETURCIRSIE]
(a) HgF Wk HUA
(b) HehI wWiHT
13

EIE
EM%'

1x2

1x2

and promotes enterprises like

S STET AT e o

1x2

1x2
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SECTION -C/@us - T

Answer Questions 36 to 51 given below. Internal choices have been given wherever necessary.

et U w9 36 ¥ 51 9k & ST S | SRl Savdeh o 9@l SNidiieh faehed fau mu ¥

36.

37.

38.

39.

40.

41.

42.

How is NABARD useful for the development of entrepreneurship ?
Safha & fo % fog ere e geR STt 7 2
OR/319raT

How entrepreneur helps in equal distribution of economic power ?

ST anifefer vifed o THM foawor § fordg YehR He&Ed idl § 2

State any two sources of values.
i o whIg <1 HId Sielgd |

OR/ 319raT
State two features of attitudes.

gfteenior it <t foRivand sramsy |

Write short note on UAM.
JuuH R Hiwge feaoft ford |

State any two significance of Ease of doing business.
SAEE HT H M 6 H1E a1 Heedl |
OR/319rar

State any two features of partnership form of an organisation.

forelt G7a7 & WEIER! TEY &1 T of foudid edEy |

“Business is an economic activity”. Do you agree ? Justify by giving any two reasons.

" e T ST TIfafafy T1'7 9 STTY UeHd § 2 IS QI hI0T SRt e hifeg |

State two important incubators in India.

IRA H < HEwol SRIeeR o |

How do entrepreneur contribute in Balanced Regional Development ?

Hfera & faem o et ford R Arer a1 € 2

[ERE
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43.

44.

45.

46.

47.

48.

67/S/A-249-A | 15 S5 [ Contd...

“Innovation allows you to commercialise invented products.” Mention six different aspects
of business in which innovation can take place.

“ AR SATIhRT STfSRT IcUTGl T ST A i ST <1 ©1'7 e % ®g fafy=
TRl ol Seetd Y TSH FaTaR B Fehd & |

OR/319raT
Explain Mind Mapping technique of enhancing creativity.

TIATCHSAT 96 i HIES AU qeh-ish THSET |

Explain three features of motivation.

YO Y i faRvard T |

To arrive at reliable results from SWOT analysis many considerations must be kept in mind.
Explain three such considerations.

SWOT faweram & favag-a afomd ® 18 & g &2 ol &1 &9 § @1 =1t | T8 4 fomr
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OR/219rET

How a person having internal locus of control is different from a person having external
locus of control ?

i T lrend den =Afe, smedl fE=0r eliehd et =afad | T YR f=1 8 2

The success of an organisation heavily depends upon the skills and abilities of the human
resource employed by them. In the light of the statement, explain the various aspects to look
after by Human Resource Management.

forgt T A1 AhoTal S BS T SHeh g [IfSIa A TE1E o hivial 31k emansti W sk
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What do you understand by cooperative societies ? State any two of its features.
Tl Wil & A9 M T § 2 THH! gl FRIwarnd g |
OR/3AYdaT

Write short note on : Start-up village.

TWR-319 Tl W Hiere feooh ford |

“Finance is the lifeblood of every business.” Explain the role of financial institutions in
entrepreneurship.

" fom e e o SitaeRad § 1 Safhar # fodia gt t fier v w6
OR/31raT

Explain the role of entrepreneurs in employment generation.

TSR o § I 1 fifent T & |




49.

50.

51.

Hindrances are the rumble strip on the road of creativity. There are certain circumstances
where creativity, the outcome of the human mind, can be hindered. State any three tactical
hindrances and two measures to overcome these hindrances.

FhTAS, THATCHRAT i T8 R 19 720 € | o uRfeafaat Tt St € <ol ToTchshdl, e Hidsh =
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Exd

“Resource mobilisation refers to the coordination of all activities involved in securing new
and additional resources for an organisation.” In the light of this statement explain human
and physical resource mobilisation of an organisation.

‘e SeM ¥ areed fRd T & farn e oiR stfafted el @ grfaa e o wnfre |ef
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“Business incubators help small business to get off the ground.” Explain the advantages of
business incubators.
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Explain Cement Manufacturing process.
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